c8)
Elety fwj/fﬁ f‘-’iﬁf G S QP Code : NP-18749
(3 Hours) EN [Total Marks : 80 ™

« (. No. 1is compulsory
* Solve any three from remaining Q. No. 2 to Q. No. &
* Assume any suitable data if necessary

Q. No. 1 )
' : ; e 9 15 i
a) What is network synthesis? Construct the circuit for Z(s] =45 4=+ — 3 124]
¥ &+
b} Derive the frequency domain equivalents for inductor with initial current I, and T
®

with initial voltage v, [04]
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c) Write the mesh equation for the circuit shown .
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e) Write a note on time constapt of B - [04]
Q. No. 2
a) Discuss the order o . [04]
b) For the circuit sh sine i{t) for t = 0 using classical method and also find i{=). [06]
c) [10] -
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Q. No. 3

a} - Determine the L.T. of the following wave shape. : [05

to
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b) Calculate the Thevenin's voltage and Norton's current for the circuit shown O[D?]
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c) | Find V, and V, at t=0+ M}S‘FJL- [08]
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Q. No. 4

a) Check the polynomial P(s) =§ urwitz, [06]
b) State network equilibriu at n the basis of KVL and KCL. [04]

c¢) Find node voltages V, and V, ® [10]
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Q. No. 5

a) A series R-L-C circuit has a scale factor 5 for its driving point admittance and the p-z plot of the
same is shown below, find the values of F-:,EL and C.
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b) Obtain cauer Il form for Z(s)= s(s + 4fs +8) b

= 08
(s+1)s+6) @ =
¢) Define Hybrid parameters \ [02]

Q. No.6 @

a) Determine transmission parameters for the network sho

(12]
o = 2y -
\ — ]
T I +
Vi J%_ vz_
= :
b) Find power associated UCU% [08]
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